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E# (Chen-KE)
M : Riemann XFNZER]
Sz : ¢ € M [CH(TDRXIFN
SCM: NUFEER
& Ve,y € S s.(y) =y
M @ 2-number ##,M
#oM = max{#S | S(& M OXNFEES }
S : RNPEEST & #S = #M
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G(R™) : AM=E Grassmann ZE{K
Pi(n):={AC{1,...,n} | #A =k}
R" DIEREREE v = {vi}, A C Py(n)
Ay(A) = {Lvqu) A Avgm) | @ € A}
EFE A C Py(n): NFEH

S H#(B—a): B (a,B€ A)
T Gr(R) DBATTHEES (IRD
A : Pi(n) DX FERNEIDES
v: RPFOEHREREE A,(A)
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k=105

{{1}} : P,(n) DBANTENIBIES
k=205

A(2,20) = {{1,2},..., {2l — 1,2l}}
. Py(21), Py(21 + 1) DR AN IERERDES
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Figure 1: A(3,21+ 1), B(3,6) and B(3,7)

A(3,5) C B(3,6) C B(3,7),
A(3,5) C A(3,7) C B(3,7).
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A(3,3)| A(3,5) | B(3,6) | B(3,7)
n 9Ll

A(3,21 + 1), B(3,7)
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k=4DiFE
A(4,2l) ={aUpB € Py(2l) | a, B
c {{1,2},{3,4},...,{2l — 1,2l}}},
B(4,7) ={a| a € B(3,7)},
B(4,8) = B(4,7) U B(3,7) x {{8}}.
CNS(E Py(n) DX TERNERDES,
iz U
B(3,7) x {{8}} ={aU{8} | a € B(3,7)}
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